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QUESTION 1

A Production operator in your company is required to report production activities, such as completing or 

scrapping production units, by referencing a work definition without creating work orders. 

Identify the manufacturing transaction that a production operator can perform for reporting such activities. 

A. Orderless Transactions 

B. Operation Transactions 

C. Resource Transactions 

D. Movement request 

E. Material Transactions 

Correct Answer: A 

 

QUESTION 2

Identify two reports that provide work order cost-related information to the costing user. 

A. Work order Operational Analysis 

B. WIP Balance by Plant 

C. Purchase Variance Summary 

D. Cost Accounting Dashboard 

Correct Answer: AD 

 

 

QUESTION 3

Your customer has multiple distribution centers and a few manufacturing plants. Plants make different items with some
overlap between them in terms of products manufactured. The distribution centers stock parts from all plants. A
Corporate Engineering team is responsible for centrally defining items and catalogues. This team defines the items and
sets the attributes for most parameters. The respective distribution centers and manufacturing plants are allowed to
change some attributes locally. Identify two different ways of achieving this requirement. 

A. Set up Plants as Inventory Organizations, Distribution Centers as Item Organizations, and Corporate Engineering
organization as Inventory Organization. 

B. Set up Plants as Inventory Organizations, Distribution Centers as Inventory Organizations, and Corporate
Engineering organizations as Item Organization. 

C. Set up Plants and Distribution Centers as Inventory organizations and Corporate Engineering organization as Item
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Organization 

D. Set up Plants and Distribution Centers as Inventory organizations and Corporate Engineering organization as
Inventory Organization. 

E. Set up Plants as Inventory Organizations, Distribution Centers as Item Organizations, and Corporate Engineering
organization as Item Organization. 

Correct Answer: BC 

 

 

QUESTION 4

The Manufacturing plant has two 8-hour shifts for the work center WC1: Day Shift and Night Shift. You associate four
units each for resources R1, R2, R3, and R4 to the work center WC1. The customer wants to assign all units of
resource R2 available for Day and Night Shift. Identify the correct sequence of steps to achieve this requirement. 

A. Associate Resource R2 with Work Center WC1> Select Available 24 Hours check box> Resource Availability region>
Enter 4 in Day Shift Column> Enter 4 in Night Shift Column. 

B. Associate Resource R2 with Work Center WC1> Deselect the Available 24 Hours check box> Resource Availability
region> Enter 2 in Day Shift Column> Enter 2 in Night Shift Column 

C. Associate Resource R2 with Work Center WC1> Select the Available 24 Hours check box> Resource Availability
region> Enter 2 in Day Shift Column > Enter 2 in Night Shift Column. 

D. Associate Resource R2 with Work Center WC1> Deselect the Available 24 Hours check box> Resource Availability
region> Enter 4 in Day Shift Column> Enter 4 in Night Shift Column. 

Correct Answer: C 

 

QUESTION 5

Identify four parameters that are considered in the calculation of manufacturing lead time in Oracle Manufacturing
Cloud. 

A. Resource calendars of the work centers involved 

B. The primary work definition of the item 

C. The lot size of the item 

D. The shifts are defined in the plant calendar 

E. Plant calendar exceptions 

F. Resource calendar exceptions 

Correct Answer: BCDF 

 

Latest 1Z0-1075-20 Dumps | 1Z0-1075-20 PDF Dumps | 1Z0-1075-20 Practice Test                                3 / 4

https://www.pass2lead.com/1z0-1075-20.html
https://www.pass2lead.com/1z0-1075-20.html
https://www.pass2lead.com/1z0-1075-20.html


https://www.pass2lead.com/1z0-1075-20.html
2024 Latest pass2lead 1Z0-1075-20 PDF and VCE dumps Download

Latest 1Z0-1075-20 Dumps 1Z0-1075-20 PDF Dumps 1Z0-1075-20 Practice Test

Powered by TCPDF (www.tcpdf.org)

Latest 1Z0-1075-20 Dumps | 1Z0-1075-20 PDF Dumps | 1Z0-1075-20 Practice Test                                4 / 4

https://www.pass2lead.com/1z0-1075-20.html
https://www.pass2lead.com/1z0-1075-20.html
https://www.pass2lead.com/1z0-1075-20.html
http://www.tcpdf.org
https://www.pass2lead.com/1z0-1075-20.html
https://www.pass2lead.com/1z0-1075-20.html
https://www.pass2lead.com/1z0-1075-20.html

